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You've uploaded an image file that you'd like to perform Optical Character Recognition
(OCR) on. Let's start by taking a look at the image to understand its content.
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5t7| 23} O[0|X|E ET AL
Here's the image you've uploaded. Would you like to proceed with OCR to extract the

text content from this image?
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Exploratory Data Analysis of Restaurant Tip Data v
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import pandas as pd
from io import StringlO

Load the data from the string into a DataFrame

data
“0,total_billtip,sex.smoker.day.time,size"
“0,16.99,1.01,Female,No, Sun,Dinner,2*
*1,10.34,1.66, Male,No,Sun, Dinner,3"

Calculate t-statistics for categorical columns using ANOVA

t_stats_categorical = []

for col in categorical_cols:

formula = f*tip ~ C({col})"

model = sm.ols(formula, data=df).fit()

f_stat = model fvalue

# Convert F-statistic to t-statistic (approximation)

t_stat = np.sqrt(f_stat) if not np.isnan(f_stat) else 0 # Handle potential NaN values
t_stats_categorical.append(t_stat)

Create a DataFrame to display the results

results_df = pd.DataFrame({

‘Variable": numerical_cols + categorical_cols,
‘t-statistic": t_stats_numerical + t_stats_categorical

D]

Display the results

print(results_dfto_markdown(index=False, numalign="left", stralign="left"))&!
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Columns Cleaned

Dataset Head

Summary Statistics

Missing Values

Value Counts: Sex

Value Counts: Smoker

# Let's read first 5 lines of the file to inspec
th open( - ) as f:
for i in range(5):

print(f.readline()}.rstrip())

",total_bill,tip,sex, smoker,day,time,size"
"@,16.99,1.91,Female, No, Sun,Dinner,2"
"1,10.34,1.66,Male,No,5un,Dinner, 3™
"2,21.81,3.5,Male,No, Sun,Dinner, 3"
"3,23.68,3.31,Male,No,Sun,Dinner,2"

e Iho| A eiEy o == stols 29Tt Qloje. 0] Eejols
omoEs Mgl ZE2H Q. oes 23 1h3 =ol2 5]
H UK =2 0|22 Uk 2H = & 0| 20EE2 £
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import pandas as pd

df_test = pd.read_csv(
print(df_test.columns})
print(df_test.head())

Index{([ "', "total bill", "tip’, 'sex’, ‘smoker’
" total bill tip sex smoker day i

[:] 16.99 1.01 Female No Sun Din

"1 10.34 1.66 Male No Sun Din

2 21.81 3.58 Male No Sun Din
3
4

23.68 3.31 Male No Sun Din

24.59 3.61

® To handle CSV data correctly, |
set quotechar=None and quot:

Ofell= H5SH tips.csv TR0 izt 7] 2% ¢l EDA(

ENEEES T
Z: total_bill, tip, sex, smoker, day, time, size
2ZA: 2 E 2o 254 gis
Hio|E Epe:

= total_bill, tip: 24" (float)
»  size: H2(int)

sex, smoker, day, time: %5 (object)

o198
o299

ot 267

TRE
(sex): Male, Female
0] 5 (smoker): Yes, No
(day): Thur, Fri, Sat, Sun

| ZHj(time): Lunch, Dinner

T8 AlZiE 2
total_bil: @EZ o= 7|l M| 7hE EE(
tip: O 7 &2 1~-522], 25 102171 X
/

B/ ORI/ LY/ ZH /A A
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data = pd.read_csv(file_path, index_cal-d)

# HoiE 828 FRN K
structure_info = data.dtypes. to_frame(name="dtype")
structure_infol*missing'] - data.isnull().sun()

# 22 5

summary_stats = data.describe(include="all")

# mm BI MG FH
import matplotlib.pyplet as plt
import seaborn as sns

# GLETHF GABSCD FHY B BT X0
plt.figure(figsize=(12, 6))

plt.subplot(1, 2, 1)
sns.histplot(datal'total bill'l, kde=True)
plt.title('Total Bill Distribution)

plt.subplot(1, 2, 2)
sns.boxplot (x-data[' total bill'l)
plt.title('Total Bill Boxplot')

plt.tight layout()
plt.show()

# H2Y OF 5 22
plt.figure(figsize=(8, 6))

sns.boxplot (x="sex', y="tip', data-data)
plt.title('Tip by Sex')

plt.show()

# 2 ol BE & 2F
plt.figure(figsize=(8, 6))

sns.boxplot (x="smoker', y='tip', data-data)
plt.title('Tip by Smoker')

plt.show()

¥ 22 5 B2

plt.figure(figsize=(8, 6))

sns.barplot (x="day', y='tip', data-data)
plt.title('Average Tip by Day')
plt.show()

# M2EE B B2

plt.figure(figsize=(8, 6))

sns.barplot (x-"time', y-"tip', data-data)
plt.title('Average Tip by Time')
plt.show()

¥ pEAY FE 8 2T
plt.figure(figsizaacd
sns.boxplot (x="s:
plt.title(*Tip b

plt.show()

structure_info, s
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ode interpreter=

* Tips dataset EDA

O] HlojE{E mtey
ol EDAS T3,

Columns Cleaned

Dataset Head

Summary Statistics

Missing Values

Value Counts: Sex

Value Counts: Smoker

HEH
print(f.readline().rstrip())

",total_bill,tip,sex,smoker,day,time,size"

"9,16.99,1.01, Female,No,Sun,Dinner,2"

"1,10.34,1.66,Male,No,Sun,Dinner,3"
.81,3.5,Male, No, Sun,Dinner,3"
.68,3.31,Male,No,Sun,Dinner, 2"

j 20 g el 9l
A i =2 goj= HUCL 2H = 2 20| 2UEE=E £
2Z{MH0] 2UCH= FHoloja. A = ofjAl:
= total_bill,tip,sex,smoker,day,time,sizen 2F ZH0| 20}
SEEZ UMM 210 0|2 H2|5H7| fI5H quotechar=""' = 2
OjoF 2 297 2loja.

pandas pd
df_test = pd.read csv(
print(df_test.columns)
print(df_test.head())

Index(['"", "total bill", "tip’, ‘'sex’, 'smoker’
total_bill tip

16.99 1.81 Female No Sun

18.34 1.66 Male No Sun

21.81 3.58 Male No Sun

23.68 3.31 Male No Sun

24.59 3.61 Female No Sun

sex smoker day i

* To handle €SV data correctly, | need to disable quoting. Ill

=ES
| 7H==: 2447} (rows)
=(Z &): 77l (total_bill, tip, sex, smoker, day,

time, size)
. e SA7 (XY we)
 total bill: < 3.07, 20 50.81 (Ba 2 19.79)
s tip: Z2 1.00, HC§ 10.00 (H= 2 2.99)

e size: F|4 1, X|Of 6 (B 2 257)

#0| 254 &l

TN

+ sex: Male 157, Female 87

+ smoker: No 151, Yes 93

« day: Th, Fr, Sa, Su &AM 2 2=

+ time: Dinner 176, Lunch 68

» total billd} tip AO| O] & A(+)2] &
0.68)
* size@} total bill= S7F 59| 2Fo| A2t (of

0.59)

e tipdt sizee ofot &2 (9 0.49)
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8.902411954856856

3.07

13.3475

17.795

24.12749939999999
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» Tips dataset EDAC
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0,16.99,1.01,Female, total_bill
No.Sun,Dinner.2

tip
1.10.34.1.66.Male N
o,5un,Dinner,3

smoker

2,21.01,3.5Male, No,
Sun,Dinner,3 day

time

Male N

e

=4 - ol &

. Holg +=
« TZA] == 24471 (rows)
« () 77Y (total_bill, tip, sex, smoker, day,

time

Dinner
time, size)

o . 2% SA (A v

Dinner « total bill: & 307, A|Cj 5081 (B2 2 19.79)
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e Tips dataset AHHE

=
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tip vs total_bill:

Yct.
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Scatter Plot: Tip Vs Total_bill

tip

Scatter Plot: tip vs total_bill

total_bill

Scatter Plot: tip vs size

size

Y M HE EA @

pandas 2= pd
io

matplotlib.pyplot =< plt

# O 2= 2 &
path
n(path, 'r') as f:
 lines — f.read().splitlines()

a2 HH
cleaned lines = [line.strip().strip( ") line raw_lines
data_str = .join(cleaned_lines)
e A
d.read_csv(io.StringI0(data_str))
df = df.loc[:, ~df.columns.str.contains(

# l0lEd El
col [ 5 5 1:

df[col] - pd-to_numeric(df[col], errors-

# MES
Figure()
. scatter(df[
_title(
_xlabel(
.ylabel(
.show()

)

_figure()
.scatter(df[
_title(
.x1abel(
.ylabel{

- show()



np.random. seed
Logit Regression Results n_samples - 18
X = np.random.randn(n_samples,
B4 HEEEEN @ [ df = pd.DataFrame(X, column f'X{i+1}' for i in range(5)])

Dep. Variable: y No. Observations: y - np.random.binomial(1, @ size-n_samples)

numpy np q - W =y
Model: Logit Df Residuals:

s s Method: MLE  DFf Model:

statsmodels.api 0d: e X_const = sm.add_constant(df.droj
DETH Wed, 87 May 2825 Pseudo R-squ.: model - sm.Logit(df[ 'y’

= = = 1t = model . fit(disp
# Hlo|E Time: 02:12:56 Log-Likelihood: result = model.fit(disp

np.random.seed(:) converged: True  LL-Null:

. print(result.summar
n_samples - Covariance Type: nonrobust LLR p-value:

X = np.random.randn(n_samples, -)
df = pd.pataFrame(X, columns=[ } i r Logit Regression Results

y = np.random.binomial(, , size-n_samples) Dep. Variable y No. Observations

1=y¥ Model: Logit Df Residuals:
-8.8763 -12.52% Method: MLE Df Model:
Date: Wed, 87 May 2825 Pseudo R-squ.: 0.808367
R~ =l 8.6089 6.127 : Time: 11:14:47  Log-Likelihood: _662.35
X_const = sm.add_constant(df.drop(columns="1 ")) 8.1185 1.743 converged: True  LL-Null: -687.44

. Covariance Type: nonrobust  LLR p-value: 8.87a71
model = sm.Logit(df[ v ], X const) -8.8597 -8.857

result = model.fit(disp= ) 0.1260 2.536 std err

| 8.8244 8.345

(result.summary())
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 LLMO| H|25}= mH7|2]

* abslpy-1.4.0

s affine-2.4.0

¢ ajohttp-3.8.1

* ajosignal - 1.3.1

¢ analytics-python - 1.4.postl
* anyio-3.7.1

* anytree - 2.8.0

* argcomplete - 1.10.3

e argon2-cffi - 23.1.0

» argon2-cffi-bindings - 21.2.0
* arviz-0.15.1

* asnlcrypto - 1.5.1

* asttokens - 2.2.1

* async-timeout - 4.0.3

* attrs - 23.1.0

¢ audioread - 3.0.0

* Babel-2.12.1

* backcall - 0.2.0

* backoff - 1.10.0

* backports.zoneinfo - 0.2.1
* basemap-1.3.2

* basemap-data - 1.3.2

s berypt-4.0.1

+ beautifulsoup4 - 4.8.2

el S

beautifulsoup4 - 4.8.2
bleach - 6.0.0

blinker - 1.6.2

blis - 0.7.10

bokeh - 2.4.0

branca - 0.6.0

Brotli - 1.0.9
cachetools - 5.3.1
cairocffi - 1.6.1
CairoSVG - 2.5.2
camelot-py - 0.10.1
catalogue - 2.0.9
certifi - 2019.11.28
cffi - 1.15.1

chardet - 4.0.0
charset-normalizer - 2.1.1
click - 8.1.7
click-plugins - 1.1.1
cligj-0.7.2
cloudpickle - 2.2.1
cmudict - 1.0.13
comm - 0.1.4
compressed-rtf - 1.0.6

343719] mHZ ||

countryinfo - 0.1.2

T A

SAE I
IO 2 med
HI0| E{t| 0] A Mg
0|0fx| ofed
2r|e ol
HIC|2 o
Office &A1

PDF ojg

EE R
op3cHe o
HTML % CSs Ity
ApHtA S E M
Shell ASHE
LaTeX Oj g

R 10{ oY

3t

Axt, .csv, tsv, .json, xml, yml,.ini, .log
.pY, .ipynb, .pkl

.db, .sqgl, .sglite

Jpeg, .jpg, .png, .bmp, .gif, .svg, .tiff
.mp3, wav, .aac, .flac

.mp4, .avi, .moy, .flv

doc, docx, xls, .xIsx, .ppt, .pptx
pdf

.zip, ar, .gz, .rar

.md

22| 7t ot
= o) H[H{2-OpenCV
| CHAl - openpyxl

R, .RData, Rmd

14



Code interpreter2 &7t task - of|7|A]

AR 4 Q1g -) cleZ 87t

& ChatGPT

ddpm.pdf
PDF

The error occurs because the torch
hbrary 15 not available in the
i t argparse . - -
L= ofefl LS HdM ddpme] =&0] L2 Y22 i moort wandb sandboxed environment. This could
be due to restnctions that prevent
reproduce S} 11+ O (R =) Iuudrams,’denms|ng—d|f'fu5|on— : i t torch - -
certain packages from being accessed

Pﬁomhs ALEElM =20 HEE reproduce"l—_._ == datetirfle.in'u:u:\r'd.: da‘lcefime . . or imported. You may need to check
o] LI2 HSap QK|51A Lie=X| Eelsts I EE nis 6 ; tOPChVZ!.S.‘II.DI"I.l:Itl].S import make grid, save_ image
0{%. G|O|E{|E= LSUNO| X 10| Bedroom samp|es / torchvision import datasets, transforms

Ok AL 3| M FID=4.907} | =X|, LSUN Church samples
M FID=7.897} =X &2lsfs. 12|12 wandbE ALS
A HE 22 HES 4 =S B0l

if the torch module is available in the

environment or adjust the script to
handle its absence properly.

module:3

B +F
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en interpreter

_7=|

Oj|A LLM2Z code interpreterz{=
%‘ﬂl A= ?_|E1E1I0Ii

] README &3 AGPL-30license 22 Security

e Open Interpreter
8 -5 [ copario ] poivcere [ ina R et

Open Interpreter 1.0 is almost here.

Please help test the 1t branch and share your experience in the

pip install git+https://github.com/OpenInterpreter/open-interpreter.; d;
interpreter --help

N ]

pip install open-interpreter
Not working? Re

interpreter

Open Interpreter lets LLMs run code (Python, Javascript, Shell, and more) locally. You
can chat with Open Interpreter through a ChatGPT-like interface in your terminal by
running $ interpreter after installing.

This provides a natural-language interface to your computer's general-purpose
capabilities:

¢ Create and edit photos, videos, PDFs, etc.

¢ Control a Chrome browser to perform research




Open interpreter

e Import torch Al3d 22
e Use pytorch_example.py to make mnist classification and save to mnist.py




CiilserstikKvungseonthootstrap_test .oy

import numey as np
import statsmodels.api as sm
from sklearn.utils import resample

#f Example data generation
np. random. seed(0)

[ |
n_samples = 100
# = np.random.rand(n_samples, 1)
=3 * ®.sgueeze() + 2 + np.random.randn(n_samples) * 0.5

Add constant
= sm.add_constant(x)

Bootstrap settings
_iterations = 1000 # Reduced to 1000 for testing
bootstrap_coefs = []

# Bootstrap loop
for _ in range(n_iterations):

A HEAEY 5l= IS AL A3l

mode| = sm.OLS{yv_resampled, ¥_resampled) fit()

#t Store coefficients
bootstrap_coefs . append(mode | . params)

# Analvze results
impert numey as e bootstrap_coefs = np arravibootstrap_coefs)
import statsmodels.api as sm coef_means = ne.mean({bootstrap_coefs, axis=0}
firem Slearmouile e GesEmle coef_stds = np. std(bootstrap_coefs, axis=0)
# oIF CiolE M
e random . seed(0) print("Coefficient means:", coef_means)
n_samples = 100 0 00 g 0 0 "
W = np.random. rand(n_samples, 1) print{"Coefficient standard deviations:", coef_stds)

v =3 * X.squeeze() + 2 + np.random.randn(n_samples) * 0.5

PR bun tool(s)7 (w/nlt v
ations = 100000000 f 1= &
rap_coefs = []

SELER U= >
or _in rangs(n_iterations):
®_resampled, y_resampled = resample(X, v) python G illsersivungseontbootstrap_test . py
27 Z2E A
mode| = sm.OLS(v_resampled, ¥_resampled) fit()
# A= A
bootstrap_coefs. append(mode| . params) Bun tool (S)Q (Y/n) LY
#2024
bootstrap_coefs = np.array(bootstrap_coefs)

coef_means = np.mean(bootstrap_coefs, axis=0)
coef_stds = np.std(bootstrap_coefs, axis=0)

print(:::ﬂ" gl c?ef_means) HLIFI 'IZOO| (S)? (‘_\.-".-""T'I:' ] ‘_\,"'
Printt A et Coefficient means: [2.114812
Coefficient standard deviati
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